R e Y

1. XLz

(a+bym) OREIE, nOENKEL %D LR
HAEENCZS L, ZHEEEEAFNAT5ICLTY,
Jm DEKSFEREE L, 22T, FAEFEL
T, IhaERD B HEEEZT,

1+4/5
2

Zhix, 74 K> FHET
D— R,
- -5
rgREIND, 0E,

Un+2=Un+1F Uny, W =U=1
SN
xn+ynﬁ:<

EBL L,

THDL9D,

un=71_5—{<x,,+ynm—<xn—— Il 5 )} =2yn

ogo,@i%iywﬁﬁﬁmﬁw5J3@%ﬁ

ﬁ%”T®6

IHIEREeVY I EAT, —ROBEITDOWTH
~NT AT,

2. B&E 3 BREOH{LN
—fgiz, B 3 EM o bR
Unve+ Qttne + bun=0 (1
BEZ SN EE, INERDEIRERTERL
T5,
Unsz— QUni1= B(Uni1— Qttn) (2)
IhEboloTEHEL,
tnsz— @+ B)ttn1+ aBun=0
e, ORNEeE2HKLT,
at+p=—a
af=b

-
—

Al B 11

(a+b/m )" DERINICDOWNT

2

HiTH

l}:g‘/\/bkﬁ
=

e B~ 1~ s 1~ e~

£, o BI1X2RAHER
4+ at+b=0

OETH 5, 202 KAERE (1) AORMHEHER

&g,
27,
N B OB THEL L ERLTWREDD,
tnor— autn="tz—au) "~
Thb, HEkic
Un+1— Bun=(us— Bu)a"™
oo, ZheEAr50T,
(B—)un=(1t2— au) 3" — (2 — Bu) "™

Lo,

Un :ﬁ%{(llz'dlll)ﬂn_l —(ez— Bur)a™ '}

LT, B {un) BESNS.

Zhid, B Q) R 5 2EEET 5 (B

BETHLLIW)BETH S,
(3) DIRDERE (a=p) OHE, @), 6) i3,

tne1 — Qttn="102— 1)
L, @idE oM TES T,

Uns)  Un _ Uz ™ QUL ey
a/n+l an a/z (Eéﬁ()
EoT, #90 [a) prasicn D 2 s,
—MRIENKE B,

3. ERTOREOBEITER
(a+bym)"=xn+yn/m

Wl ?

T, a bEQEEY), m IFSIRFEEER

LB E T (AOBHTS L),
xn+}’nm:(Xn—]+}'n—l«%)(d+bﬁh>
:(Cl;\'n—l+ b?ﬂyn—l)“l'(banl + aynfl)m
L0,

Xn=QXn-1+ bMYn_y

27

(2) FRUTEG {20001 — @ttn) D5, FIE t— aw,



yn:bx'z—l‘}'ayn—l‘ (7)
MRLY, x:% Thohd, BRI

HRALT,

ym;dyﬂ — 4 y"*Zy”” + bmyn
IhEBHELT,

Vet —2ayn (@~ BPm)ynr =0 @)
FEfg LT,

Xns1— 2axn (@ — 0®m) 21 =0 9

ZZT, X1y X2o Y1, Y2 iX
n=a, w=>b, xtyym=~(a+bJ/m)"
TEHET .
B R, QAR CTEEs WA AR,
2—2at +(a®— b*m)=0
Thbd, i, atb/m BIBLETIERBO 2R
FERCh T3,

FEB (a+bvm) =xatydm BT, I
{xn), {vn} i3, a+b/m ZRETHEFRE2RK
R AR TR & T 5 B 3 T oMbt
EREIET.

4, W\W<DOHODOHY
M1 (@2+/3) OREHE
2+V3)+2—-V3)=4
2+v3)(2-V3)=1
k0, 243 LT3 2158
t2—4t+1=0
50T,
Xntz=4Xn+1—Xn
Yn+2=4Yn+1— Yn
F72, =2, w=1, x2t3/3=02+V3)
=7+4Y3. ZhoOEEFHEL L, ZO#ifbzl
WEIWTRIIHET % &,

n|1,2|3|4|5] 6| 7] 8

xn |l 2| 7 | 2697 (362|1351|5042|18817

ya| 1| 4 15|56 |209| 780 {2911 (10864

ZDFED,
2+V3)P=26+15/3
(243 ) =97+56/3
(243 )*=362+209/3

28

(24+/3)°=1351+780/3
(24+ V3 )Y =5042+2911/3
(243 )8=18817+108644 3

m2 (1+V30)" DR
A+V3D+0-y3)=2
A+Y3D1—V3i)=4
v, 1+/37 2B+ 2 2 xR
#—=20+4=0
£-7T,
Xns2=2Xn+1—4Xn
Vnr2=2Yn+1—4Yn
ZZ7T,
n=w=1, xtyw/3i=1+/3)*=—2+2/37.
IHSDEETIEESL L, ZoWbicEonTE
FIEHIRT % &,

n| 1,23 |4|5,6|7| 8

Xn | 1 |—2|—8|—8]16|64|64|—128

voll 12710 |—8-160 |64 128

ZOELD,

(1+V3:)*=-38
(1+V37)=-8—-8/3:
A+/3iP=16—16+3
(144 30)°=64
(1+/3i)=64+64/3
(14+/3i)¥=—128+128/37

5, LWDHDBI (ZD 2)

ST, EROKHELT, ROMEEEZ THI:
U,

a=v3, =2, an2=2vV3 anr—4an(n=1,
2, 3y e ) TEDSNLEY (an) 12DV T,
ROMIZEZ L.

() as &R L.

(2) an=0 L2 2nDELTNTERD &,

(#8) ()&, OIEGE2RAT 0TIV,
(as=0)
@ ICERIEATX B,
5z szt o AR,
=23 1+4=0
T, IRERMNT, t=J/3Li THY,




a=Re(y3+)=+3, (V3+i*=2+2/3i &1,
az:Re((ﬁ—f- Z’)Z):Z T%%b)ga ﬁyu {an} bi,
W3+ oRERCBI 2 EZEED2ET.

JI+ z':2<cosg+z'sin-g>

Lo RE S0,

W3+i)= 2”(cos %n + z'sin%n)

x

6
k5T, n=3+6k(k=0, 1, 2, 3, - )

6. BOHODIZ

LT, an=0 %:§+kﬂ' DI,

ORI, BLobEV-LIKE, "T74 K

F v FEF

1, 1, 2, 3, 5, 8 13, 21, 34, 55, 89----
KBWT, ZEBERICELS 2, L0 MEESE
ZTWwb LB (TSI =74 Y250
HOSHH).,

COEY—BE»SFZoREVLEE N, W
ZBABERTVEIBIBREONI-DTH S,
Rz 3 EAG R & D b, BB OW{L (6)
(MR OFBTFHR T b Lignss, Db~
e kI REMTH B DT, H2 THEE3EROWL
L7z,

(LB R IA BB B



